FARAER (LAIRRZEL)

@ BEHUMIRLUTEIMMETERT)

® BARFLER (St
BEREHY 8,926.021
BREODFERE 8,326.000

LBEHEDFERLIY 600.021
1/hit 52 478.000
2l kL= 26.472
3l BHF 12.000
4lHLE L 12.000
] = A o TN A 4.000
6|iEF A 5.000
LMK AFE 7.000
8|HFW Tt 2.000
9IFR VA 5.000
10|78 Fth 2.181
1Rk UbF 4.363
12| K% Ex 0.000
13[8REF #— 1.000
14[/MAR RIS 1.000
15|15 U5 8.000
16|S5% H 3.000
17| TR =& 0.000
18[F%F Bx 1.000
19|22 fg— 2.000
20| BL fEX 0.000
21|/ #F 6.000
2|fEAK RE 2.000
23| S EFE HE 2.000
24|F0FEF BEE 2.000
25|lUEK FHRF 4.001
26[lLA DY 10.004




® HHEXHR "R
WEEHR 19,604.991
BRED/ERH 15,543.000

RBEHEDERELE 4,061.991
1|7Rith FESHE 85.000
2(BYLTHL ABF 120.000
3|BE FIUA 71.000
4RI FShHE 34.000
5|H# L KLWpE 61.000
6|ZED EBLMWVE 115.000
7M1 LAL 54.457
8|1 RE 73.000
9(A<f- FEH 16.000
10[db#F #EX 177.000
1|ARH &LE 43.000
12|<%FH HDoL 15.000
13|1EE DAHE 78.000
14|{£% FIUS 318.000
15(IUR MBF 156.000
16|HF FL 35.000
1721 FX 118.506
18| H & 161.000
19|45AK 2EF 286.000
20[FEE f=hL 72.000
21O BDH 67.000
22|AHE HEZ 119.000
23010 105.000
24k0O s 29.000
25|=lE FSH 19.000
26|=EA Lol 22.000
27|HFAX Bt 10.000
28(ILE KER 1,063.000
29(ILE &LB 74.000
30{LA Zik 66.028
31|F1E FSL4a 399.000




R|=K &6 BEMICSBALLDRERGE 1.000
B|=i#E F BEMICHBALDNEBEHE 1.000
® +)—T Dk /=
REEH 256.542
BREOFEHRE 207.000
L2BEREODFELH 49.542
112Nl o0 22.000
2[RK EA 14.000
/M FEA 8.542
AEM TE 5.000
RER S
BEREH 1,826.000
BREORFERHK 1,556.000
L2BEREDFEELH 270.000
1|&HE fzf2Ed 45.000
2|4 A 179.000
3| K#E W5C 16.000
HXE HOF 30.000
AR BEH
RERH 6,854.061
BREDFRERHK 6,517.000
LBEREDFRELH 337.061
11&1 Mallf 58.000
2[R =< 53.000
3|#FE UvTE 21.000
AlUAR MGz 71.030
5|lLA VAL 73.031
6| D &EiF 21.000
EH VAHE 21.000
8|=4E RER 2.000
o3RI I 2.000
10ffth Fth 3.000
1|{AHE B 2.000
12|FHE it 1.000
13|[ESD FEE 1.000




148 EA 1.000
15[3RA &G 0.000
16|BEF fRI 2.000
17|&=R Ei 5.000
0 EREXR "R
WREH 3,046.016
BRED/ERH 2,292.000
L2BEREODRELY 754.016
11BL &L 144.000
2lheEE B 73.000
3|KE NINE 116.000
41/pMUEB DRF 5.000
5BH Ya—R7T 4.000
6|k B 5.026
T|HF V&P 45.000
8|HE+ FH 161.000
9|#iR #2 3.000
10/E% &LLASH 108.463
1[VHLY DHT 11.000
12|F&) f=1+& 4.000
13| &YF 45.000
14ILTF K52 29527
@ BEHFOE BEH
BREHR 5,528.973
BREDFRLRHK 4,811.000
REEHRBEDERLE 717.973
11oAL HE 52.000
2|5 #52 81.000
A M rpE 23.000
48K RB 183.973
5|1 &L 7.000
6|LIEf- 17 16.000
NER L& 4.000
8|dpoE Kt 5.000
9Ly .ib EEF 16.000




10(2@ FY 11.000
KL AF 21.000
12K0lEs <A 16.000
13|F%FO HHH 6.000
14| 01HE 3 276.000
@ EERBRE BE
BEEH 165.000
BREOFEEREY 136.000
LEBEBREOFEELY 29.000
11 Y&3Z 23.000
28 VADY 1.000
3| &I FEA 5.000
@ IBERTR /=
BEREH 13,890.000
BREODRFERHK 12,482.000
L2BEREDFEELH 1,408.000
11| XE 59.000
2(hH WERE 81.000
3G FH 18.000
4B FS&LL 95.000
5[/NR FSVE 75.000
6|HLEY <o 32.000
1N&EF- —F 47.000
8[JIIA FEF 270.000
9|F FEC 56.000
10[%8 Yz 48.000
&k hey 33.000
12([LEH BR 4.000
13|8IR #F 21.000
14|78 TS 134.000
15|FhFf pE 7.000
16|RE &5 2.000
17|51 A 29.000
18[FD &L 6.000
19|HTE B— 16.000




20|£YX f=hL 183.000

21(&F N EBY 90.000

22|EM BT 102.000

® FEOBHREHITHBMER "TEH
BREH 77.454

BREOFEEREY 57.454

LEBEBREOFEELY 20.000

1% VBA&L 16.000

2|5t BE 2.000

IEH AHH 2.000

4|fREE BF BEMICEBAELINEBEHE 5.454

® NHKASLEREZF5% "TEH
BEEHK 1,396.000

BREO/ERK 1,265.000

LEEHEDFEERE 131.000

1|3iL7E & 119.000

2@ B 9.000

3[fEA o 2.000

4|RERXL A 1.000

@ RERTELEZEASS "TEHY
BEEH 665.000

BRED/ELRK 630.000

LEEHEDFEERE 35.000

1HEE Fih 35.000

® hil H I EM BEH
RER# 5,093.932

BREOFEEREY 2,910.000

LEEHEDRERERE 2,183.932

1JIUA KER 2,083.902

2[FF LT B 29.000

[T EH 12.000

4=H KLASH 7.030

554 505 11.000

6| K DhaE 31.000

ELD THF 10.000




8|5 U BAMICEBALLDREBEHE 6.000

9| ARH EF BRHICEBALLIREEEE 63.000
XKEPEOHEICKYIPMEUTERRLTVET,

ER(ZEM)
B4l LBEEEFEH(N) BEEH(N) BREE (%)

=] 61,146 33,578 54.91

= 64,466 34,961 54.23

5 125,612 68,539 54.56




